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QUESTION 1

A LookML developer has written the following persistent derived table. It references orders_rollup, another persistent
derived table that also rebuilds with the same SQL trigger value. 

Which change is needed to guarantee that user_facts will always rebuild with the latest data from orders_rollup? 

A. Change the sql_trigger_value parameter of user_facts to select the current date plus one hour, so it triggers an hour
after orders_rollup. 

B. Change the orders_rollup view reference to ${orders_rollup.DERVIED_TABLE_NAME} 

C. Change the sql_trigger_value parameter for both persistent derived tables to a datagroup_trigger parameter, and set
them to use the same datagroup. 

D. Change the orders_rollup view reference to the literal table name from the database\\'s scratch schema. 

Correct Answer: C 

 

QUESTION 2

Users must be able to click on the Country field in their Explore and be redirected to another Explore that shows all
countries compared. 

Which parameter should be added to the country dimension to create a connection to this other associated Explore? 

A. url_encode 

B. drill_fields 

C. tags 
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D. link 

Correct Answer: D 

 

QUESTION 3

A LookML developer is creating a new view with 20 dimensions in Development Mode using the Create View from Table
functionality. Now users want the developer to add only four dimensions from this new view to an existing Explore. 

What can the developer add to the Explore to limit the number of fields from the view that are accessible to the user in
the Explore? 

A. Set definition 

B. Join condition 

C. Fields parameter 

D. Hidden parameter 

Correct Answer: B 

 

QUESTION 4

Business users report that they are unable to build useful queries because the list of fields in the Explore is too long to
find what they need. 

Which three LookML options should a developer use to curate the business user\\'s experience? (Choose three.) 

A. Add a description parameter to each field with context so that users can search key terms. 

B. Create a separate project for each business unit containing only the fields that the unit needs. 

C. Add a group_label parameter to relevant fields to organize them into logical categories. 

D. Use the hidden parameter to remove irrelevant fields from the Explore. 

E. Use a derived table to show only the relevant fields. 

Correct Answer: ACE 

 

QUESTION 5

A user is seeing an error in the Explore that indicates the primary key defined for a one-million-row table is not unique. 

How can the developer use SQL Runner to troubleshoot quickly? 

A. Create a query that selects all the fields from the table, and sort by primary key. 

B. Create a query that selects the primary key from the base view, and look for duplicates. 
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C. Create a query that counts how many occurrences of the primary key value are in the base view, and sort by count. 

D. Create a query that concatenates two columns to create a compound primary key. 

Correct Answer: D 
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